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B(ha) B/A Bt(ha) Bt/A C (ha) C/A Ct(ha) Ct/A
£ (FH ) (Ke) % M (F) |tk (Ke) % & (FH) W8 (Ke) % & (F) i (Ke) %
1 B&Ef 3,550 7 2.7 0 1,280 0.1 15 9.8 108 3,420 0.3 7 2.7 0 1,280 0.1 16 9.8 108 3,420 0.3 |g&™
9 |AET 47201 293 112.6 1,518 29,413 24| 1,226 625.9 14,019 102,014 13.3 345 1473 2,471 34,207 3.1| 1,284 625.9 14,019 102,014 13.3 |[AET
3 | EERT 2,400 1 0.5 0 0 0.0 49 38.3 1,147 6,071 1.6 1 0.5 0 0 0.0 48 38.3 1,147 6,071 1.6 |EERT
4 |t EHE 592 1 0.3 0 0 0.0 120 49.0 2,312 1,453 8.3 3 1.1 59 0 0.2 55 49.0 2,312 1,453 8.3 |t~ ErT
5 | KA1 RET 611 1 1.8 0 1,089 0.3 33 19.0 111 11,003 3.1 3 20 14 1,160 0.3 32 19.0 111 11,003 3.1 |KARET
[kL:L 1,650 1 0.6 0 175 0.0 85 38.0 582 10,623 2.3 3 1.3 7 363 0.1 36 38.0 582 10,623 2.3 |+ EET
7| SEERET 1,020 6 50 45 1,241 0.5| 369 142.4 3,566 31,230 140 10 6.6 46 1,538 0.6] 232 142.4 3,566 31,230 14.0 |5 HEET
g |l Hr 1,990 1 0.6 0 173 0.0 39 41.0 144 11,536 2.1 2 1.0 0 233 0.0 38 41.0 144 11,536 2.1 |eEr
9 | FLERET 3,230 7 2.6 286 0 0.1 269 162.8 7,837 14,598 50 9 3.2 333 0 0.1 40 162.8 7,837 14,598 5.0 |AFRET
10| L& 5830] 123 56.9 5,136 0 1.0| 1,420 8419 92,976 0 144 235 211.8 21,770 0 3.6{ 1,001 8414 92,919 0 14.4 (L&
11 |1EAE™ 14 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 |i&EE™
12 |BEH 2,460 34 221 1,573 0 0.9] 542 382.3 21,567 0 15.5 36 413 2,685 0 1.7] 218 382.3 21,567 0 15.5 |&mH
13| 2EHH 358 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 | 2&EHH
14|58H 1,290 32 15.5 829 0 1.2] 1,036 788.8 49,534 0 61.1 54 30.3 1,713 0 23| 564 788.8 49,534 0 61.1 |&i8™
15 | EIEA 2,460 112 935 10,120 0 3.8] 290 227.6 23,791 5,291 9.3 170 134.3 14,654 0 55 288 227.6 23,791 5,291 9.3 |EHHEr
16 |WWFTHT 1,230] 282 90.5 9,768 0 7.4 436 168.4 15,477 11,210 13.7 15 955 9,967 1,318 7.8 54 168.4 15,477 11,210 13.7 [T
17 |HRBHET 1,010 20 13.3 863 2,202 1.3] 208 134.5 9,657 22,591 13.3 35 23.7 863 8,259 23 171 1345 9,657 22,591 13.3 [f25HT
18|t iEHT 119 2 1.0 50 0 09| 254 91.2 4,415 0 76.6 2 1.0 50 0 0.9] 200 91.2 4,415 0 76.6 |t~ iEET
19 | FIFFHET 461 0 0.0 0 0 0.0 3 1.6 117 0 0.4 1 0.5 38 0 0.1 3 1.6 117 0 0.4 |#rFEr
20 | KFET 2,520 0 0.0 0 0 0.0 97 116.4 10,590 4,902 4.6 0 0.0 0 0 0.0 29 116.4 10,590 4,902 4.6 |KFnET
21 | RHBET 2,190 40 43.0 3,996 0 20| 375 416.3 35,633 6,563 19.0 43 50.1 4,483 0 23| 138 416.3 35,633 6,563 19.0 | K4BET
29 EAT 717 3 34 86 1,103 05 16 21.0 291 7,547 29 5 5.5 86 2,341 0.8 15 21.0 291 7,547 29 |EaH
23 | K##H 1,400 1 25 186 0 0.2 50 78.6 1,939 17,029 5.6 2 3.2 186 210 0.2 49 78.6 1,939 17,029 5.6 |KfEF
24 KB 19,000] 265 221.8 29,090 6,368 1.2] 1,372 1,3241 180,593 32,104 7.0 328 276.3 37,713 5,949 1.5 992 1,324.1 180,593 32,104 7.0 |KuET
25 BRRET 2,890 64 92.3 9,620 0 3.2 300 434.4 49,660 555 15.0 15 95.5 9,939 0 3.3 71 4344 49,660 555 15.0 |&RRET
26 | MOEHET 6,260 8 45 431 0 0.1 293 4371 46,559 4,803 70 7 45 431 0 0.1 50 4371 46,559 4,803 7.0 |fnsEHT
97 BBET 3,470 123 98.6 9,897 0 28| 710 563.2 71,498 10,102 16.2 165 140.1 14,819 3,030 40| 673 562.9 71,472 10,102 16.2 |i@4HET
08 EEHT 5010] 141 134.6 18,803 1,002 2.7 760 753.7 117,725 12,017 15.0 108 154.4 21,627 1,166 3.1 422 753.7) 117,725 12,017 15.0 =28
29 RETM 18,500 59 71.2 7,487 5,844 04| 893 969.2 55,543 241,799 52 75 86.8 8,236 10,804 0.5] 778 969.2 55,543 241,799 5.2 |ER™
30 BXK 18,400 152 119.6 16,771 0 0.6] 1,693 1,633.5 211,690 21,931 8.3 212 180.4 25,217 0 1.0] 1,557 1,523.7 210,258 21,931 8.3 |&ExW
31 BEW 9,360] 185 145.0 15,412 22,852 1.5] 1,019 9255 87,668 175,308 9.9 224 203.7 21,176 33,791 22| 916 923.5 87,507 175,308 9.9 |&5T
30 |[HiETh 2,510 54 335 360 17,030 1.3 788 548.3 44,503 85,477 21.8 59 36.6 856 15,395 1.5 589 548.3 44,503 85,477 21.8 |G
33 KAy 14 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 0 0.0 0 0 0.0 |%xJuEr
34 | SALBT 1,430 25 6.2 306 0 04| 344 87.0 2,832 6,530 6.1 2 6.2 306 0 0.4 23 87.0 2,832 6,530 6.1 |=iliB™
35 FI=REHT 989 8 1.1 36 0 0.1 145 49.6 1,496 0 50 3 1.1 36 0 0.1 42 49.6 1,496 0 5.0 [P =RERT
B2t 129,655] 2,051 1,396.7 142,667 89,772 1.1115,249 12,020.4 1,165,576 857,707 93] 2,179 1,948.6 199,777 121,044 1.5/10,624 12,007.9 1,163,900 857,707 9.3




